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SOCIOLOGY

Maximum : 80 Scores

Time : 2 2 Hours
Cool-off time : 15 Minutes

/ General Instructions to candidates : : \
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2% hrs.

® You are not allowed to write your answers nor to discuss anything with others during
the ‘cool-off time’.

¢ Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering. |
® All questions are compulsory and only internal choice is allowed.

® When yoﬁ select a question, all the sub-questions must be answered from the same
~ question itself. '

® Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.
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Religion plays an important role in
Indian Society. At the time of
Christmas, we can see people
celebrate Chnistmas irrespective of
religious differences everywhere. It
indicates

(1) Harmony

(ii} Diversity

(iii) Hierarchy

(iv) Mobility

India ts a land of diversity. It gives
endless varieties of physical and
cultural patterns. Do you think the
heterogeneous aspect of Indian life
shows unity in diversity ? Explain
your views regarding the features
of unity in diversity.

Purusharthas plays an important
role in the cultural life of man in
vedic  society.  Explain  the
- importance of Purusharthas 1in
shaping the life of man.

Ram’s father is a farmer. Due to
debt he lost his house and land. He
left his village, took his family with
him and came to the city in search
of a job. Identify the proces$ which
took place here.

(1) Acculturation

(2) Assimilation

(3) Colonialism

(4) Rural-Urban Migration

Suppose you are residing in a city
and you can see that city is
expanding by buildings, roads and
communication systemn etc. Bring
out the problems of urbanisation in
detail.

Hints:- Housing, Sanitation, Water,
Infectious disease.
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Your neighbour’s wife expired due
to illness. After a few days, he got
married to the younger sister of his
deceased wife. Name of this
practice is known as

(1) Levirate
(2) Sororate

(3) Polyandry
(4) Polygamy

Babu belongs to a lower caste
- family. He fell in love with a girl
belonging to an upper caste. After a
few years they got married. This is
an example of

(1) Anuloma
(2) Pratiloma
(3) Endogamy
(4) Polygamy

Joint family has its own merits.
Modem nuclear family is facing lot
of problems. Extended family is
having an alternative to overcome
the difficulties. Bring out your
ideas about '

(a) The merits of joint family.

(b) The problems of nuclear
family.

As a Social Institution family
performs several functions. These
functions are important for the
stability of society. Discuss
regarding the important functions
of the family. Give your own
views,

Hint : Primary and secondary
function. Own views. '
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10.

11.

12.

In today’s society marriages are
being conducted extravagently.
Analysis your view  points
regarding marriage system in the
modern Kerala society.

Untouchability was an evil practice
existed in Indian Society. Once, in
Indian Society untouchables are
subjected to somte disabilities in
every walk of life. Discuss in detail
the disabilities of the untouchables
in the present society.

Dr. Ambedkar and Gandhiji stood
against the social evils that
hindered the progress of Hindu
society. Even today there are so

" many evil practices in our society.

Analyse the scope of such
movement in present society.

OR

In the post-independent India
Scheduled Castes enjoyed the legal
and . welfare measures for their
protection. Briefly examine what
are the welfare measures meant for
Scheduled Caste people in India.

Through Sanskritisation Move-
ment, some tribal groups assert
their status as Hindus. This
movement is also known as Bhagat
Movement. Analyse your views
regarding tribal movement in pre-
independence period.

G-3027

10.

11

12.

- acdlenm  mamymd

EOONBOE TVAOTWIGE QAUKHIan-
am@d  aelo  cpdeISEOMINS
MSTHN|SIAN). BRYWIMIS: CHOB
mumanamlonl alapad  21S56E8)-
&Hogafd] MEBRSOS  ?H0¥alqds
UL A AIG <.

BXMOZ)H)SAVB TAMYM TV OIS
afler afkriloyam 630) @Ry DEE0kA),
cmm;aommﬁ
=lollmaian e uwasdgleno
8@] ailede @MU @RUVATIH
90 |50I00lo)m).  AKdomBOm-
@081 AN TUBAOOTIEE @RMAG-
spdocovinn mlexmlanloyan
aaIMuoGU Ale1tClee) ..

GO, @ROGEMKIMH0), omwledike)o
TMOBOOTIOL!  GRMI 2IDQEBBUGHE
a@Ne0  mlel®)oaflajaelwioan).
Mo AW AVDOODIGE
DOmoe  @RMIaeaBwd  mler

~ afSiaoam). MANHOTD VB0

Qo)  RQUDINg  GRHAUNRYD:D
ailei]o)om)ds.

m_swg‘!mﬂmﬁ

e oyiad  (anolsad)
algld: RICNVNWBoOas =M
aileoweanyd mleaaleao,
UIBIAOIHONBIW  TVIOSHIDDF
omlm)  ealenE] 8650 alrLEYl-

- ageE. oo olleowemileloa]s-

AUEeOS MOMnsld: Alld:rumaolm;
COIE CHHD alEDDI@OBEN01a]

(1D 103109 B>

MM &MU HHENe BAIHATF]-
enes &) allgdve @yl
aVABIWABD a0lBIHOBIOS
aVOB}a0IS: aidail @ROIIUN.|S])-
D BeaMNQge SO  MBANQo
af)IOOA|G). TVIOTHITY LI {10
D)BaN@S8 DWW TMAOCIDE
@AMl MBI QOO EN o]
0ilRG:2KN0 §1alg)H:.



13.

14.

15.

() Briefly

The leaders of  Naxalbari
Movement organised the peasants
for an armed struggle in order to
bring fundamental changes in their
condition. But the exploitation of
the poor peasants are still
continuing.

(a) Is there any relevance for
such movements in the
democratic set up ?

(b)) What can you do to protect
the interest of the poor
sections from exploitation ?

Indian population is growing in an
alarming rate. Do you think it is
due to the defects in our social
system 7 Give your suggestions to
reduce population growth in India.

Hint: Population growth, Population

policy, Suggestions

Ramu is living in a village. He
heard a news that an industry is
going to be established in his
village. But some of his friends
decided to agitate against it
because they have the opinion that
it would pollute the environment.

(a) How
environment
related ?

industrialisation and
pollution are

(b) Can you suggest a remedy for
it ? '
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explain the con-.
sequences of industrialisation. 3
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16.

17.

18.

19.

Certain lower caste communities in -
India have initiated the food

patterns and certain aspects of the
customs of higher caste. What is
the appropriate term to refer this
process ?

(a) Sanskritisation
{b) Westernisation
(c) Modernisation
(d) Acculturation

While you are travelling in a train
you can see that the rural are_ais of
Kerala are changed with emerging
buildings and shopping complexes.
What does this chaﬁgé indicate 7
(a) Urbanisation 3

(b) Modemisation

(c) Industrialisation

{(d) Westernisation

India is facing a variety of social

problems. Collective approach is

necessary to tackle the problem.

(a) Can you list out the social
problems in India ? |

(b) Analyse any one of the social
problems in India and suggest
suitable remedies to reduce it.

Poverty on a massive scale exists in
India. More than 50% of Indian
population are still living below
poverty line. Can you, bring out the
causes of poverty in India ? Give
suggestive measures to reduce
poverty.

Hint : Causes of poverty.

. Suggestions to reduce poverty. 4
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20.

21,

22.

Raju is studying in fifth standard.
He often stay away from home, and
misbehave in school by quarrelling
with his friends. In which category
does the character of Raju belong ?

(1) Iuvenilc.Delinquency
(2) Crme

(3) literacy

{4) Mental Retardation

The status of women in India has
been changing since 1950.. Both
structural and cultural changes
have provided equal opportunities
to women. Bring out the factors
which are responsible for the
change in the status of women.

Hints: - Social factors
— Legal measures

Cultural factors

Education

Reports from rural India show that

the girl children are being killed

immediately after birth. Some of
the couples in urban areas go for
abortion when they do not want a
girl child. How can you view this
problem ?

1. Harassment

2. Dowry

3. Female infanticide

4.  Murder
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- 23.

24.

25.

Dowry deaths are increasing in
Kerala society. Inspite of several
social and cultural changes, in
Kerala we can see that the problem
of dowry still exists. Discuss the
modern trends in Dowry system.

Hints : — Dowry system

— Social consequences of

dowry

— Dowry in  modern
society

— Your views

Fundamentalism and Communalism
are mass created. Indian Constitution
integrated the people inspite of
differences. But there are so many
hurdles for National Integration.

(a) Identify the
National Integration.

(b} Suggest some preventive
measures to reduce Communal

tension.

kind of
attachment for people belonging to
one’s own region and hatred for

Regionalism is a

those who belong to some other
region. Do you think in India
Regionalism is predominant ? If so,

(a) Bring. out the causes of
Regionalism in India.

(b) Classify the
Regionalism.

category of
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